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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. In each of the questions 4 alternatives
have been given out of which only one is correct. Choose the correct one.

The value of p for which the quadratic equation x (x —4) +p=0 has real roots, is :
(A) p<4 B) p=4 (C) p=4 (D) None of these

What is the common difference of the A.P. in which a;g—a;;=32?
(A) 8 B) -8 © 4 (D) -4

If the radii of two concentric circles are 5 cm and 13 cm, then the length of the chord of
one circle which is tangent to the other circle is :

(A) 12 cm (B) 24 cm (C) 6cm (D) 18 cm

In the given Fig.1 if PA and PB are tangents to the circle with centre O such that
0 APB=50° then OAB is :

A
P <]
B
Fig.1
(A) 25° (B) 30° (€ 50° (D) 40°

If the probability of winning a game is 0.995, then the probability of losing is :
(A) 1 (B) 0.05 (C) 0.0050 (D) 0.0

The length of the shadow of a 20 m tall pole, on the ground when the sun’s elevation is
45° is :
(A) 20m (B) 2042 m (C) 50m (D) 40 /2 m

A wire is in the shape of a circle of radius 21 cm. It is bent to form a square. The side
0 _ 220
of the square is : HT =7B

(A) 22 cm (B) 33 cm (C) 44 cm (D) 66 cm

A solid sphere of diameter 6 cm is melted and drawn into a wire of radius 4 mm. The
length of wire is :

(A) 900 cm (B) 90 cm (C) 900 m (D) 225 cm
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10.

11.

12.

13.

14.

15.

16.

17.

PQ is tangent to circle with centre O. The radius of circle if PO=5 cm and PQ=4 cm,

1S

Q

Fig.2

(A) 5cm (B) 3 cm (C) 7cm

In the given fig.3, angle OBC =30°, then value of x is :

Fig.3

(A) 100° (B) 110° (C) 30°

SECTION - B
Question numbers 11 to 18 carry 2 marks each.

Find the number of terms of the series :
=5+ (=8 +(—=11) +.cceceeee +(—230)

Check whether the points (2, 2), (4, 0) and (—6, 10) are collinear.

(D) 35 cm

(D) 15°

Find the number of solid cylindrical structures of radius 7 cm and height 10 cm which

can be made from a solid cylinder of radius 7 m and height 10 m.

Find the value of k such that the quadratic equation : x(x —2k) + 6 =0, has real and

equal roots.

A chord of a circle of radius 12 cm subtends an angle of 60° at the centre. Find the area

of the corresponding segment of the circle. Hise w = 3.14 and V3 = 173

Find the ratio in which the y-axis divides the join of (5, —6) and (-1, —4).

Two tangents PA and PB are drawn from an external point P to a circle with centre O.

Prove that AOBP is a cyclic quadrilateral.
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19.

20.

21.

22.

23.

24.

25.

From a deck of playing cards all aces and clubs are removed, a card is drawn at random
from the remaining cards. Find the probability that it is :

(a) A black face card. (b) A red card
OR

A bag contain cards numbered 3 to 102, one card is drawn at random. Find the
probability that it is :

(@) An even number (b) anumber divisible by 5

SECTION - C
Question numbers 19 to 28 carry 3 marks each.

From a point on the ground 120 m away from the base of a pole, the elevation of the

top of a pole was found to be 30°. Find the vertical height of the pole. Hise V3 = 1.7324

A spherical solid ball of diameter 21 cm is melted and recast into cubes, each of side 1
cm. Find the number of cubes so formed.

OR

A solid sphere of diameter 14 cm is cut into two halves by a plane passing through the
centre. Find the combined surface area of the two hemispheres so formed.

If the sum of first n terms of an A.P. is 4n2—n, find the 12" term.

Solve the given equation for x :

1 1 1 1
a b X a+ b+ x
OR
Solve :
- 1 =3
X x — 2

Find the area of the quadrilateral ABCD formed by the joining of the following points
in order :

A(2,9), BB, 5), C(5 5), D(7, 9)

From a bag containing 5 red, 6 black and 7 yellow balls, a ball is drawn at random.
Find the probability that it is :

(a) Not yellow ball
(b) Neither black nor red
(c)  Either black or yellow

Find a point on y axis which is equidistant from (2, 2) and (9, 9).
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26.

27.

28.

29.

30.

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that
AB+CD=AD+BC.

OR

In the given fig.4, two tangents PQ and PR are drawn to a circle with centre O from an
external point P. Prove that [0 QPR=20 OQR.

R
Fig.4

Draw a right triangle in which the sides (other than the hypotenuse) are of length 6 cm

3
and 4 cm. Then construct another similar triangle whose sides are 5 times the

corresponding sides of the given triangle.

In fig.5, find the area of the shaded region, where a circular arc of radius 6 cm is drawn
with a vertex O of an equilateral tringle OAB of side 12 cm as centre.

Fig.5

SECTION -D

Question numbers 29 to 34 carry 4 marks each.

A plane left 30 min late due to bad weather, but in order to reach its destination
1500 km away on time it has to increase its speed by 250 km/hr. Find the original
speed.

A gulab jamun, contains sugar syrup up to about 30% of its volume. Find approximately
how much syrup would be found in 45 such gulab jamuns, each shaped like a cylinder
with two hemispherical ends with total length 5 cm and diameter 2.8 cm.

OR

A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm,
which is surmounted by another cylinder of height 60 cm and radius 8 cm. Find the
mass of the pole, given that 1 cm? of iron has 8 gm mass.
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31.

32.

33.

34.

A spiral is made up of successive semicircles, with centers alternately at A and B, starting
from A, of radius 0.5 cm, 1 cm, 1.5 e, ........ What is the total length of such a spiral
made up of thirteen consecutive semicircles ?

A

N

Fig.6

A container open at the top and made up of a metal sheet, is in the form of a frustum
of cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20 cm
respectively. Find the cost of milk which can completely fill the container, at the rate of
Rs. 20 per litre.  (use w=23.14).

Prove that the lengths of tangents drawn from an external point to a circle are equal.

From the top of a light house the angle of depression of a ship sailing towards it was
found to be 30°. After 10 seconds the angle of depression changes to 60°. Assuming
that the ship is sailing at uniform speed, find how much time it will take to reach the
light house.

OR

From a point on the ground the angle of elevation of the bottom and the top of a
flagstaff situated on the top of a 120 m tall house, was found to be 30° and 45°
respectively. Find the height of the flagstaff.

-000-
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